o) x+lh =71
x = 1-i

X = 3
) 4 = x+2
4-2 =2¢

1 =2

e) 27:, :g
x =8

2z

ek

g 1 xEl.7

2

x=Tx2

x = M

i) aE =1
T sl

3

ECLuaLLf'OﬂS . Answers

) x-3 =¢
x = 8+3
x = |l



@

Solve
a) Rr+d = lix
122 - ]lx = 5
x = 2

+ 5
-3

c) SE=3 = &¥ 7
-3+7 = 6% -5x

| = R

€) bx +1 = G
e = Gl

e = B

x - 3

Iy

k= 2

T =
F) ge= fxt |
5-1="Tlx
7= Tx
g .
= A
| =t



@ Solve

a) T+ 3= 5%+ 1l
-8 = =3
% & §

x = &
=

x e 4

c) Lx +7 =9x-%g
T+8 = Gxr—5%

15 = x
I =

i
[

e) e +5 = Fx +4
S5~k = gx-2x
| = bx
A = x
b

b) 132-2 = 10x + IO
132 -10x = JO +2

Jx = I2
2 = 2

1
x = 4

d) 7 x + /[,_O = bx + %0
o-80 = bx -2x
60 = bx

60 -
L
19 =X

F) Tx-3 = l}-l’“)"z
Tr—4% =248

Ax =5

x =5

3



